

Compulsory Elements				Level: 3	 INCLUSIVE SKATING		
Competition:	World Inclusive Skating Virtual Championship 2025						
First name:	Tim	Last name:	Barnsley				
Classification:	Unified Unclassified	Sex:	Man				
Age January 1st:	44	Age category:	Master				
Country:	England, UK	Club:		Support:			
Elements			Technical	Grade of Execution	Mark awarded		
					Official Use Only		
Level 3							
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)		0.167	3.4	0.568		
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)		0.167	3.3	0.551		
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)		0.167	3.1	0.518		
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)		0.167	3.1	0.518		
Total Technical Elements			Total judges score for elements		1.637		
			Factor	WPI	WPI incl age		
Impairment Compensation (3 x WPI)			3	0.00%	4.00%		
Deductions					0.00		
Total Score for Performance					1.76		

Compulsory Elements				Level: 3	 INCLUSIVE SKATING		
Competition:	World Inclusive Skating Virtual Championship 2025						
First name:	William	Last name:	Dripps				
Classification:	Unified Classified	Sex:	Man				
Age January 1st:	13	Age category:	Advanced-Novice				
Country:	Northern Ireland, UK	Club:		Support:			
Elements			Technical	Grade of Execution	Mark awarded		
					Official Use Only		
Level 3							
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)		0.167	3.2	0.534		
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)		0.167	3.1	0.518		
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)		0.167	2	0.334		
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)		0.167	1.25	0.209		
Total Technical Elements			Total judges score for elements		1.386		
			Factor	WPI	WPI incl age		
Impairment Compensation (3 x WPI)			3	5.00%	5.00%		
Deductions					0.00		
Total Score for Performance					1.54		

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements				Level: 4	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025					
First name:	Joey	Last name:	Baker			
Classification:	Unified Unclassified	Sex:	Man			
Age January 1st:	35	Age category:	Senior			
Country:	UK	Club:		Support:		
Elements			Technical	Grade of Execution	Mark awarded	
			Official Use Only			
Level 4						
1.	4 Consecutive backward outside edges (L and R on semi-circles).	0.167	4.05	0.676		
2.	4 Consecutive backward inside edges (L and R on semi-circles).	0.167	3.8	0.635		
3.	Mohawk Step: Forward crossover, inside Mohawk, backward crossover step (L and R). See <i>Technical handbook</i> for detailed description and diagram	0.167	3.8	0.635		
4.	Waltz three step sequence (L and R). See <i>Technical handbook</i> for detailed description and diagram	0.167	3.9	0.651		
Total Technical Elements		Total judges score for elements			1.946	
		Factor	WPI	WPI incl age		
Impairment Compensation (4 x WPI)		4	0.00%	0.00%	0.000	
Deductions					0.00	
Total Score for Performance					1.95	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024



Compulsory Figures						Level: 7		 INCLUSIVE SKATING			
Competition:	World Inclusive Skating Virtual Championship 2025										
First name:	Cameron	Last name:	Sargent	Sex:	Man						
Classification:	Intellectual Independent	Age January 1st:	23	Age category:	Senior						
Country:	England, UK		Club:	Support:							
			Chose 3 figures to be performed	Technical value chosen	Circle	Centre	Tracing	Symmetry and Geometry	Cleanliness of edge and turns		
			Enter Y	Official Use Only							
Elements Permitted			Skater to fill in								
Level 7, choose 3											
1.	Forward Outside Eight, repeat 3 times on each foot	Y	1	1	4.65	5.5	4.4	4.7	4.85	5	29.100
2.	Forward Inside Eight, repeat 3 times on each foot	Y	1	1	4.5	5.4	4.3	4.35	4.4	5	27.950
3.	Back Outside Eight	Y	1.5	1.5	3.6	4	3.5	3.1	3.9	4.6	34.050
4.	Back Inside Eight		1.5	0							0.000
5.	Forward Change of Edge, (Right Foot or Left)		1.5	0							0.000
6.	Backward Change of Edge (Right Foot or Left)		2	0							0.000
7.	Forward One Foot Eight (Right Foot or Left)		2	0							0.000
8.	Backward One Foot Eight (Right Foot or Left)		2.5	0							0.000
9.	Forward Outside Three to Back Inside Three (Right Foot or Left)		2	0							0.000
10.	Forward Inside Three to Back Outside Three (Right Foot or Left)		2	0							0.000
11.	Forward Outside Change of Edge and FI Three to Back Outside Change of Edge and BI Three (Right Foot or Left)		3	0							0.000
12.	Forward Inside Change of Edge and FO Three to Back Inside Change of Edge and BO Three (Right Foot or Left)		3	0							0.000
13.	Backward Outside Change of Edge and BI Three to Forward Outside Change of Edge and FI Three (Right Foot or Left)		3.5	0							0.000
14.	Backward Inside Change of Edge and BO Three to Forward Inside Change of Edge and FO Three (Right Foot or Left)		3.5	0							0.000
15.	Forward Outside Double threes		3.5	0							0.000
16.	Forward Inside Double threes		3.5	0							0.000
17.	Backward Outside Double threes		4	0							0.000
18.	Backward Inside Double threes		4	0							0.000
19.	Right Forward Outside Change of Edge and FI Double Three to Left FI Change of Edge and FO Double Three		4	0							0.000
20.	Left Forward Outside Change of Edge and FI Double Three to Right Inside Change of Edge and FO Double Three		4	0							0.000
21.	Right Backward Outside Change of Edge and BI Double Three to Left BI Change of Edge and BO Double Three		5	0							0.000
22.	Left Backward Outside Change of Edge and BI Double Three to Right BI Change of Edge and BO Double Three		5	0							0.000
23.	Forward Outside Paragraph Threes (Right Foot or Left)		6	0							0.000
24.	Backward Outside Paragraph Threes (Right Foot or Left)		7	0							0.000
25.	Forward Outside Paragraph Double Threes (Right Foot or Left)		8	0							0.000
26.	Backward Outside Paragraph Double Threes (Right Foot or Left)		9	0							0.000
27.	Forward Outside Brackets (Right Foot or Left)		4	0							0.000
28.	Forward Inside Brackets (Right Foot or Left)		4	0							0.000
29.	Forward Outside Change Brackets (Right Foot or Left)		6	0							0.000
30.	Forward Inside Change Brackets (Right Foot or Left)		6	0							0.000
31.	Forward Outside Paragraph Brackets (Right Foot or Left)		8	0							0.000
32.	Backward Outside Paragraph Brackets (Right Foot or Left)		9	0							0.000
33.	Counters Outside and Inside and Right and Left		6	0							0.000
34.	Rockers Outside and Inside and Right and Left		7	0							0.000
35.	Forward Loops Outside and Inside and Right and Left		4	0							0.000
36.	Backward Loops Outside and Inside and Right and Left		5	0							0.000
37.	Forward Change Loops Outside and Right and Left		6	0							0.000
38.	Backward Change Loops Outside and Right and Left		7	0							0.000
39.	Forward Paragraph Loops		8	0							0.000
40.	Backward Paragraph Loops		9	0							0.000
41.	Threes to a Centre		4	0							0.000
42.	Waltz Eight		3	0							0.000
				Sum chosen technical:	3.5						
Total Technical Elements				Factor	WPI	WPI incl age	Total judges score for elements				91.100
Impairment Compensation (18 x WPI)				18	20.00%	20.00%					3.600
Deductions											0.00
Total Score for Performance										94.70	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements				Level: 1	 INCLUSIVE SKATING	
Competition: World Inclusive Skating Virtual Championship 2025						
First name:	Aylin	Last name:	Ersin			
Classification:	Unified Unclassified	Sex:	Lady			
Age January 1st:	48	Age category:	Master			
Country:	England, UK	Club:		Support:		
Elements			Technical	Grade of Execution	Mark awarded	
					Official Use Only	
Level 1						
1.	Forward swizzles for a distance of 10 metres		0.133	2.5	0.333	
2.	Backward swizzles for a distance of 10 metres		0.133	2	0.266	
3.	1 foot forward snowplow stop (L or R)		0.133	1.2	0.160	
Total Technical Elements			Total judges score for elements		0.759	
			Factor	WPI	WPI incl age	
Impairment Compensation (1,4 x WPI)			1.4	0.00%	8.00%	
Deductions					0.00	
Total Score for Performance					0.87	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 1		 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025				
First name:	Lotta	Last name:	Berglund		
Classification:	Physical Independent	Sex:	Lady		
Age January 1st:	35	Age category:	Senior		
Country:	Germany	Club:			
Elements		Technical	Grade of Execution	Mark awarded	
				Official Use Only	
Level 1					
1.	Forward swizzles for a distance of 10 metres	0.133	3.6	0.479	
2.	Backward swizzles for a distance of 10 metres	0.133	3	0.399	
3.	1 foot forward snowplow stop (L or R)	0.133	3	0.399	
Total Technical Elements		Total judges score for elements		1.277	
		Factor	WPI	WPI incl age	
Impairment Compensation (1,4 x WPI)		1.4	5.00%	5.00% 0.070	
Deductions				0.00	
Total Score for Performance				1.35	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 1		 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025				
First name:	Lucy	Last name:	Wilson		
Classification:	Unified Unclassified	Sex:	Lady		
Age January 1st:	47	Age category:	Master		
Country:	UK	Club:			
Elements		Technical	Grade of Execution	Mark awarded	
Official Use Only					
Level 1					
1.	Forward swizzles for a distance of 10 metres	0.133	3.5	0.466	
2.	Backward swizzles for a distance of 10 metres	0.133	3.5	0.466	
3.	1 foot forward snowplow stop (L or R)	0.133	1.8	0.239	
Total Technical Elements		Total judges score for elements		1.171	
		Factor	WPI	WPI incl age	
Impairment Compensation (1,4 x WPI)		1.4	0.00%	7.00% 0.098	
Deductions				0.00	
Total Score for Performance				1.27	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 1		 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025				
First name:	Lyra	Last name:	Morton		
Classification:	Unified Classified	Sex:	Lady		
Age January 1st:	11	Age category:	Novice		
Country:	England, UK	Club:			
Elements		Technical	Grade of Execution	Mark awarded	
				Official Use Only	
Level 1					
1.	Forward swizzles for a distance of 10 metres	0.133	2.8	0.372	
2.	Backward swizzles for a distance of 10 metres	0.133	2.7	0.359	
3.	1 foot forward snowplow stop (L or R)	0.133		0.000	
Total Technical Elements		Total judges score for elements		0.731	
		Factor	WPI	WPI incl age	
Impairment Compensation (1,4 x WPI)		1.4	0.00%	0.00%	
Deductions				0.00	
Total Score for Performance				0.73	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 2		 INCLUSIVE SKATING
Competition:	World Inclusive Skating Virtual Championship 2025			
First name:	Emma	Last name:	Wormald	
Classification:	Unified Unclassified	Sex:	Lady	
Age January 1st:	31	Age category:	Senior	
Country:	UK	Club:		
Elements		Technical	Grade of Execution	Mark awarded
		Official Use Only		
Level 2				
1.	Skater skates forward using stroking motion to a point approximately one-third the length of the skating area where the skater performs a forward to backward two-foot turn.	0.167	3.3	0.551
2.	Skater skates backward using stroking motion to a point approximately two-thirds the length of the skating area where the skater performs a backward to forward two-foot turn.	0.167	3.2	0.534
3.	The skater skates forward "using stroking motion" to the end of the rink where the skater performs a T-Stop.	0.167	2.4	0.401
4.	Forward one foot glide for distance of 10 metres (L and R).	0.167	1.6	0.267
Total Technical Elements		Total judges score for elements		1.486
		Factor	WPI	WPI incl age
Impairment Compensation (2,75 x WPI)		2.75	0.00%	0.00%
Deductions				0.00
Total Score for Performance				1.49

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 2		 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025				
First name:	Hazel	Last name:	Kowalik		
Classification:	Unified Classified	Sex:	Lady		
Age January 1st:	6	Age category:	Pre-Novice		
Country:	UK	Club:	Support:		
Elements		Technical	Grade of Execution	Mark awarded	
		Official Use Only			
Level 2					
1.	Skater skates forward using stroking motion to a point approximately one-third the length of the skating area where the skater performs a forward to backward two-foot turn.	0.167	3.6	0.601	
2.	Skater skates backward using stroking motion to a point approximately two-thirds the length of the skating area where the skater performs a backward to forward two-foot turn.	0.167	3	0.501	
3.	The skater skates forward "using stroking motion" to the end of the rink where the skater performs a T-Stop.	0.167	2.5	0.418	
4.	Forward one foot glide for distance of 10 metres (L and R).	0.167	3.1	0.518	
Total Technical Elements		Total judges score for elements		1.520	
		Factor	WPI	WPI incl age	
Impairment Compensation (2,75 x WPI)		2.75	5.00%	5.00% 0.138	
Deductions				0.00	
Total Score for Performance				1.66	

Compulsory Elements				Level: 2	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025					
First name:	Kyla	Last name:	Morgan			
Classification:	Unified Classified	Sex:	Lady			
Age January 1st:	12	Age category:	Novice			
Country:	England, UK	Club:		Support:		
Elements			Technical	Grade of Execution	Mark awarded	
					Official Use Only	
Level 2						
1.	Skater skates forward using stroking motion to a point approximately one-third the length of the skating area where the skater performs a forward to backward two-foot turn.		0.167	1.5	0.251	
2.	Skater skates backward using stroking motion to a point approximately two-thirds the length of the skating area where the skater performs a backward to forward two-foot turn.		0.167	1.5	0.251	
3.	The skater skates forward "using stroking motion" to the end of the rink where the skater performs a T-Stop.		0.167	1.3	0.217	
4.	Forward one foot glide for distance of 10 metres (L and R).		0.167	1.25	0.209	
Total Technical Elements		Total judges score for elements			0.719	
		Factor	WPI	WPI incl age		
Impairment Compensation (2,75 x WPI)		2.75	0.00%	0.00%	0.000	
Deductions					0.00	
Total Score for Performance					0.72	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 2		 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025				
First name:	Wynter	Last name:	East		
Classification:	Unified Unclassified	Sex:	Lady		
Age January 1st:	8	Age category:	Pre-Novice		
Country:	England, UK	Club:			
Elements		Technical	Grade of Execution	Mark awarded	
Level 2				Official Use Only	
1.	Skater skates forward using stroking motion to a point approximately one-third the length of the skating area where the skater performs a forward to backward two-foot turn.	0.167	3.3	0.551	
2.	Skater skates backward using stroking motion to a point approximately two-thirds the length of the skating area where the skater performs a backward to forward two-foot turn.	0.167	2	0.334	
3.	The skater skates forward "using stroking motion" to the end of the rink where the skater performs a T-Stop.	0.167	2.7	0.451	
4.	Forward one foot glide for distance of 10 metres (L and R).	0.167	2.4	0.401	
Total Technical Elements		Total judges score for elements		1.336	
		Factor	WPI	WPI incl age	
Impairment Compensation (2,75 x WPI)		2.75	0.00%	0.00%	
Deductions				0.00	
Total Score for Performance				1.34	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 3		 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025				
First name:	Amy	Last name:	Scott		
Classification:	Intellectual Independent	Sex:	Lady		
Age January 1st:	18	Age category:	Senior		
Country:	England, UK	Club:			
Elements		Technical	Grade of Execution	Mark awarded	
		Official Use Only			
Level 3					
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)	0.167	2.85	0.476	
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)	0.167	3.1	0.518	
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)	0.167	4	0.668	
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)	0.167	3.25	0.543	
Total Technical Elements		Total judges score for elements		1.662	
		Factor	WPI	WPI incl age	
Impairment Compensation (3 x WPI)		3	5.00%	5.00% 0.150	
Deductions				0.00	
Total Score for Performance				1.81	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 3		 INCLUSIVE SKATING
Competition:	World Inclusive Skating Virtual Championship 2025			
First name:	Angelika	Last name:	Stanieczko	
Classification:	Unified Unclassified	Sex:	Lady	
Age January 1st:	44	Age category:	Master	
Country:	England, UK	Club:	Support:	
Elements		Technical	Grade of Execution	Mark awarded
Official Use Only				
Level 3				
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)	0.167	3.5	0.585
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)	0.167	3.5	0.585
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)	0.167	2	0.334
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)	0.167	0.7	0.117
Total Technical Elements		Total judges score for elements		1.504
		Factor	WPI	WPI incl age
Impairment Compensation (3 x WPI)		3	0.00%	4.00% 0.120
Deductions				0.00
Total Score for Performance				1.62

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements				Level: 3	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025					
First name:	Evie Rose	Last name:	Banks			
Classification:	Physical Independent	Sex:	Lady			
Age January 1st:	12	Age category:	Novice			
Country:	England, UK	Club:		Support:		
Elements			Technical	Grade of Execution	Mark awarded	
			Official Use Only			
Level 3						
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)		0.167		0.000	
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)		0.167		0.000	
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)		0.167		0.000	
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)		0.167		0.000	
Total Technical Elements		Total judges score for elements			0.000	
		Factor	WPI	WPI incl age		
Impairment Compensation (3 x WPI)		3	5.00%	5.00%	0.150	
Deductions					0.00	
Total Score for Performance					0.15	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 3		 INCLUSIVE SKATING
Competition:	World Inclusive Skating Virtual Championship 2025			
First name:	Freya	Last name:	Orban	
Classification:	Unified Classified	Sex:	Lady	
Age January 1st:	14	Age category:	Advanced-Novice	
Country:	England, UK	Club:		
Elements		Technical	Grade of Execution	Mark awarded
		Official Use Only		
Level 3				
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)	0.167	2.4	0.401
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)	0.167	2.6	0.434
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)	0.167	2.5	0.418
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)	0.167	1.5	0.251
Total Technical Elements		Total judges score for elements		1.253
		Factor	WPI	WPI incl age
Impairment Compensation (3 x WPI)		3	0.00%	0.00%
Deductions				0.00
Total Score for Performance		1.25		

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements				Level: 3	 INCLUSIVE SKATING	
Competition:		World Inclusive Skating Virtual Championship 2025				
First name:	Izabella-Mae	Last name:	Lang			
Classification:	Unified Unclassified	Sex:	Lady			
Age January 1st:	10	Age category:	Pre-Novice			
Country:	UK	Club:		Support:		
Elements			Technical	Grade of Execution	Mark awarded	
			Official Use Only			
Level 3						
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)		0.167	3.6	0.601	
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)		0.167	3.8	0.635	
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)		0.167	3.3	0.551	
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)		0.167	3.5	0.585	
Total Technical Elements		Total judges score for elements			1.787	
		Factor	WPI	WPI incl age		
Impairment Compensation (3 x WPI)		3	0.00%	0.00%	0.000	
Deductions					0.00	
Total Score for Performance					1.79	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements				Level: 3	 INCLUSIVE SKATING	
Competition:		World Inclusive Skating Virtual Championship 2025				
First name:	Laura	Last name:	Hayes			
Classification:	Unified Classified	Sex:	Lady			
Age January 1st:	36	Age category:	Senior			
Country:	UK	Club:		Support:		
Elements			Technical	Grade of Execution	Mark awarded	
			Official Use Only			
Level 3						
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)		0.167	3.4	0.568	
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)		0.167	3.5	0.585	
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)		0.167	3.2	0.534	
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)		0.167	3	0.501	
Total Technical Elements		Total judges score for elements			1.687	
		Factor	WPI	WPI incl age		
Impairment Compensation (3 x WPI)		3	0.00%	0.00%		
Deductions					0.00	
Total Score for Performance					1.69	

Compulsory Elements				Level: 3	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025					
First name:	Lucy	Last name:	Ellerton			
Classification:	Unified Classified	Sex:	Lady			
Age January 1st:	13	Age category:	Advanced-Novice			
Country:	England, UK	Club:		Support:		
Elements			Technical	Grade of Execution	Mark awarded	
Level 3						
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)		0.167	3.4	0.568	
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)		0.167	3.2	0.534	
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)		0.167	3	0.501	
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)		0.167	2.75	0.459	
Total Technical Elements		Total judges score for elements			1.603	
		Factor	WPI	WPI incl age		
Impairment Compensation (3 x WPI)		3	5.00%	5.00%	0.150	
Deductions					0.00	
Total Score for Performance					1.75	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements				Level: 3	 INCLUSIVE SKATING	
Competition:		World Inclusive Skating Virtual Championship 2025				
First name:	Natasha	Last name:	Arbuckle			
Classification:	Unified Classified	Sex:	Lady			
Age January 1st:	21	Age category:	Senior			
Country:	England, UK	Club:		Support:		
Elements			Technical	Grade of Execution	Mark awarded	
Official Use Only						
Level 3						
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)		0.167	3.9	0.651	
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)		0.167	3.5	0.585	
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)		0.167	2.5	0.418	
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)		0.167	2.75	0.459	
Total Technical Elements		Total judges score for elements			1.654	
		Factor	WPI	WPI incl age		
Impairment Compensation (3 x WPI)		3	5.00%	5.00%	0.150	
Deductions					0.00	
Total Score for Performance					1.80	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements				Level: 3	 INCLUSIVE SKATING
Competition:	World Inclusive Skating Virtual Championship 2025				
First name:	Neveah	Last name:	Howland		
Classification:	Intellectual Independent	Sex:	Lady		
Age January 1st:	13	Age category:	Advanced-Novice		
Country:	England, UK	Club:		Support:	
Elements			Technical	Grade of Execution	Mark awarded
			Official Use Only		
Level 3					
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)		0.167	4	0.668
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)		0.167	3.6	0.601
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)		0.167	3	0.501
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)		0.167	3.2	0.534
Total Technical Elements		Total judges score for elements			1.770
		Factor	WPI	WPI incl age	
Impairment Compensation (3 x WPI)		3	20.00%	20.00%	0.600
Deductions					0.00
Total Score for Performance					2.37

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements				Level: 3	 INCLUSIVE SKATING
Competition:	World Inclusive Skating Virtual Championship 2025				
First name:	Ruth	Last name:	Snook		
Classification:	Unified Classified	Sex:	Lady		
Age January 1st:	39	Age category:	Senior		
Country:	England, UK	Club:		Support:	
Elements			Technical	Grade of Execution	Mark awarded
			Official Use Only		
Level 3					
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)		0.167	4	0.668
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)		0.167	3.8	0.635
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)		0.167	3.2	0.534
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)		0.167	3.25	0.543
Total Technical Elements		Total judges score for elements			1.837
		Factor	WPI	WPI incl age	
Impairment Compensation (3 x WPI)		3	0.00%	0.00%	
Deductions					0.00
Total Score for Performance					1.84

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements				Level: 3	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025					
First name:	Sarah	Last name:	Reader			
Classification:	Physical Independent	Sex:	Lady			
Age January 1st:	18	Age category:	Senior			
Country:	UK	Club:		Support:		
Elements			Technical	Grade of Execution	Mark awarded	
			Official Use Only			
Level 3						
1.	4 consecutive forward outside edges (L + R, all edges on a semi circles)		0.167	2.8	0.468	
2.	4 consecutive forward inside edges (L + R, all edges on a semi circles)		0.167	3.2	0.534	
3.	Forward outside one foot three-turn (L + R, edges on one foot for 1 metre)		0.167	3.8	0.635	
4.	Forward inside open Mohawk (L + R, edges for 1 metre with free leg extended)		0.167	2.8	0.468	
Total Technical Elements		Total judges score for elements			1.637	
		Factor	WPI	WPI incl age		
Impairment Compensation (3 x WPI)		3	0.00%	0.00%		
Deductions					0.00	
Total Score for Performance					1.64	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 4		 INCLUSIVE SKATING
Competition:	World Inclusive Skating Virtual Championship 2025			
First name:	Amelia	Last name:	Jones	
Classification:	Unified Unclassified	Sex:	Lady	
Age January 1st:	14	Age category:	Advanced-Novice	
Country:	England, UK	Club:		
		Technical	Grade of Execution	Mark awarded
Elements		Official Use Only		
Level 4				
1.	4 Consecutive backward outside edges (L and R on semi-circles).	0.167	3.5	0.585
2.	4 Consecutive backward inside edges (L and R on semi-circles).	0.167	2	0.334
3.	Mohawk Step: Forward crossover, inside Mohawk, backward crossover step (L and R). See <i>Technical handbook for detailed description and diagram</i>	0.167	3.5	0.585
4.	Waltz three step sequence (L and R). See <i>Technical handbook for detailed description and diagram</i>	0.167	3.25	0.543
Total Technical Elements		Total judges score for elements		1.504
		Factor	WPI	WPI incl age
Impairment Compensation (4 x WPI)		4	0.00%	0.00%
Deductions				0.00
Total Score for Performance		1.50		

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 4		 INCLUSIVE SKATING
Competition:	World Inclusive Skating Virtual Championship 2025			
First name:	Beatrix	Last name:	White Boutique	
Classification:	Intellectual Independent	Sex:	Lady	
Age January 1st:	11	Age category:	Novice	
Country:	England, UK	Club:		
Elements		Technical	Grade of Execution	Mark awarded
		Official Use Only		
Level 4				
1.	4 Consecutive backward outside edges (L and R on semi-circles).	0.167	2.9	0.484
2.	4 Consecutive backward inside edges (L and R on semi-circles).	0.167	2.8	0.468
3.	Mohawk Step: Forward crossover, inside Mohawk, backward crossover step (L and R). See <i>Technical handbook for detailed description and diagram</i>	0.167	3.5	0.585
4.	Waltz three step sequence (L and R). See <i>Technical handbook for detailed description and diagram</i>	0.167	2.9	0.484
Total Technical Elements		Total judges score for elements		1.537
		Factor	WPI	WPI incl age
Impairment Compensation (4 x WPI)		4	5.00%	5.00%
Deductions				0.00
Total Score for Performance				1.74

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements				Level: 4	 INCLUSIVE SKATING		
Competition:	World Inclusive Skating Virtual Championship 2025						
First name:	Jennifer	Last name:	Slater				
Classification:	Unified Classified	Sex:	Lady				
Age January 1st:	27	Age category:	Senior				
Country:	England, UK	Club:		Support:			
Elements			Technical	Grade of Execution	Mark awarded		
					Official Use Only		
Level 4							
1.	4 Consecutive backward outside edges (L and R on semi-circles).		0.167	3.5	0.585		
2.	4 Consecutive backward inside edges (L and R on semi-circles).		0.167	2	0.334		
3.	Mohawk Step: Forward crossover, inside Mohawk, backward crossover step (L and R). See <i>Technical handbook for detailed description and diagram</i>		0.167	3	0.501		
4.	Waltz three step sequence (L and R). See <i>Technical handbook for detailed description and diagram</i>		0.167	3.2	0.534		
Total Technical Elements			Total judges score for elements		1.420		
			Factor	WPI	WPI incl age		
Impairment Compensation (4 x WPI)			4	0.00%	0.00%		
Deductions					0.00		
Total Score for Performance					1.42		

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 4		 INCLUSIVE SKATING
Competition:	World Inclusive Skating Virtual Championship 2025			
First name:	Maleena	Last name:	Moorhouse	
Classification:	Unified Unclassified	Sex:	Lady	
Age January 1st:	24	Age category:	Senior	
Country:	UK	Club:		
Elements		Technical	Grade of Execution	Mark awarded
Level 4				Official Use Only
1.	4 Consecutive backward outside edges (L and R on semi-circles).	0.167	3.4	0.568
2.	4 Consecutive backward inside edges (L and R on semi-circles).	0.167	2.1	0.351
3.	Mohawk Step: Forward crossover, inside Mohawk, backward crossover step (L and R). See <i>Technical handbook for detailed description and diagram</i>	0.167	2.8	0.468
4.	Waltz three step sequence (L and R). See <i>Technical handbook for detailed description and diagram</i>	0.167	3	0.501
Total Technical Elements		Total judges score for elements		1.387
		Factor	WPI	WPI incl age
Impairment Compensation (4 x WPI)		4	0.00%	0.00%
Deductions				0.00
Total Score for Performance				1.39

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 4		 INCLUSIVE SKATING
Competition:	World Inclusive Skating Virtual Championship 2025			
First name:	Meg	Last name:	McFarlane	
Classification:	Intellectual Independent	Sex:	Lady	
Age January 1st:	21	Age category:	Senior	
Country:	England, UK	Club:	Support:	
Elements		Technical	Grade of Execution	Mark awarded
		Official Use Only		
Level 4				
1.	4 Consecutive backward outside edges (L and R on semi-circles).	0.167	3.4	0.568
2.	4 Consecutive backward inside edges (L and R on semi-circles).	0.167	4	0.668
3.	Mohawk Step: Forward crossover, inside Mohawk, backward crossover step (L and R). See <i>Technical handbook for detailed description and diagram</i>	0.167	0.85	0.142
4.	Waltz three step sequence (L and R). See <i>Technical handbook for detailed description and diagram</i>	0.167	2.2	0.367
Total Technical Elements		Total judges score for elements		1.378
		Factor	WPI	WPI incl age
Impairment Compensation (4 x WPI)		4	60.00%	60.00% 2.400
Deductions				0.00
Total Score for Performance				3.78

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements				Level: 4	 INCLUSIVE SKATING	
Competition:	World Inclusive Skating Virtual Championship 2025					
First name:	Stefanie	Last name:	Reid			
Classification:	Physical Independent	Sex:	Lady			
Age January 1st:	40	Age category:	Senior			
Country:		Club:		Support:		
Elements			Technical	Grade of Execution	Mark awarded	
					Official Use Only	
Level 4						
1.	4 Consecutive backward outside edges (L and R on semi-circles).		0.167	4.2	0.701	
2.	4 Consecutive backward inside edges (L and R on semi-circles).		0.167	4.1	0.685	
3.	Mohawk Step: Forward crossover, inside Mohawk, backward crossover step (L and R). See <i>Technical handbook</i> for detailed description and diagram		0.167	4.2	0.701	
4.	Waltz three step sequence (L and R). See <i>Technical handbook</i> for detailed description and diagram		0.167	4.35	0.726	
Total Technical Elements		Total judges score for elements			2.087	
		Factor	WPI	WPI incl age		
Impairment Compensation (4 x WPI)		4	28.00%	28.00%	1.120	
Deductions					0.00	
Total Score for Performance					3.21	

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 4		 INCLUSIVE SKATING
Competition:	World Inclusive Skating Virtual Championship 2025			
First name:	Thea	Last name:	Harding	
Classification:	Unified Unclassified	Sex:	Lady	
Age January 1st:	11	Age category:	Novice	
Country:	England, UK	Club:		
		Technical	Grade of Execution	Mark awarded
Elements		Official Use Only		
Level 4				
1.	4 Consecutive backward outside edges (L and R on semi-circles).	0.167	3.8	0.635
2.	4 Consecutive backward inside edges (L and R on semi-circles).	0.167	2	0.334
3.	Mohawk Step: Forward crossover, inside Mohawk, backward crossover step (L and R). See <i>Technical handbook for detailed description and diagram</i>	0.167	3.1	0.518
4.	Waltz three step sequence (L and R). See <i>Technical handbook for detailed description and diagram</i>	0.167	3	0.501
Total Technical Elements		Total judges score for elements		1.487
		Factor	WPI	WPI incl age
Impairment Compensation (4 x WPI)		4	0.00%	0.00%
Deductions				0.00
Total Score for Performance		1.49		

Based on Technical Handbook 2025, 10th ed. updated 22.10.2024

Compulsory Elements		Level: 5		 INCLUSIVE SKATING	
Competition:		World Inclusive Skating Virtual Championship 2025			
First name:	Emily	Last name:	Poulton-Smyth		
Classification:	Unified Classified	Sex:	Lady		
Age January 1st:	20	Age category:	Senior		
Country:	England, UK	Club:	Support:		
Elements		Technical	Grade of Execution	Mark awarded	
<i>Official Use Only</i>					
Level 5					
1.	Right Change of Edge three turn Step. See <i>Technical handbook for detailed description and diagram</i>	0.167	4.6	0.768	
2.	Left Change of Edge three turn Step. See <i>Technical handbook for detailed description and diagram</i>	0.167	4.6	0.768	
3.	Right back outside three inside mohawk repeat on circle. See <i>Technical handbook for detailed description and diagram</i>	0.167	3	0.501	
4.	Left back outside three inside mohawk repeat on circle. See <i>Technical handbook for detailed description and diagram</i>	0.167	2.8	0.468	
Total Technical Elements		Total judges score for elements		2.037	
		Factor	WPI	WPI incl age	
Impairment Compensation (4,5 x WPI)		4.5	5.00%	5.00% 0.225	
Deductions				0.00	
Total Score for Performance				2.26	